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What is the product of the x and y coordinates of the solution of the system of linear
equations?

~TIx+y=-19 -2x+3y=-19
+H ol | ""J.x -}1}__

=7 "‘q = *\‘\
y (83—

K Py ot (ale bo Gad Soloben
(P
Ae-5 =-10

is 5.1x10*and width2.4x10° .
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24. Find the sum of the first 8 terms of the sequence 7, -21, 63, -189...7
G RS
-3 X2 %3

——— » v 5 2 o IR
i e L R T Bl + = Te)-+-NS2 32‘50 1
i S = —q 5 ,
‘ 2 3 i
K N\E\ a\\ o‘i Haenn N Coll K
A.  -15,309
B. 11,480

D. -16,531.7

25. Which of the following sequences is geometric?

C\éa‘mt\(ic Y\eans’ mo\\;?\;(a*‘on
A. 16, 1‘§: ZQ, /2,2 i
e AN{S.OV\

+L+1L 1

B. 30,25, 2015 ...
A
-5 -5 =5




Final Exam Review Guide Page |3

ificant figures does the number given have?

705@%%30
NNONIER S
00Es6*

' 27. Whatis the median value of 6, 7, 8, 1,2, 4,5, 5,7, 8, 1,2, and 97

L * P P quwmbers in ocdex ,
K274 BB THE Y

* Fnd e cmiddle fowserc

A 45

China is coming to the Port of Long Beach. The captain of the ship has
any US dollars does he have? The conversion rate at the time is 1yuan to
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29.  Chris has €65 (Euros). He wants to purchase jeans for $45 CAD and a tee shirt for $20
CAD. After his purchase, how much money will he have left? The conversion rate at the
time is leuro to 1.57 CAD?

45 CAQ + 20 CAD =65 CAD
b5 Eovres <~\\~§i§@> lﬂg,( 5 CAD

iﬂ\'

£ -
<

D) ;‘f
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/ iw

37.05 Ohxa ( \%—;;:)) s S Ji8 ];U(o 5
A. 102.1 Euros
B.  37.1 Euros

D. None of ‘t-he Abaove

30.  What is the domain and range of the given graph?

mdvgo_)&_._ -
r'd Ri.c. 0 { 2
- — %meo J XS

-‘ e ——
- e

D. Domain: all real numbers.
Range: y<lI



IB Math Studies 1 Part 2 Final Exam Review Guide

31.

Which inequality is represented by the graph?

‘k L,(_,":l ‘(\ C ‘\‘:\ 'Y\\ L | ,\\ % ‘-.‘) \ \-*—

Salid Line MeanS A

Ser B 1S N:i,: Mo anSuse

The 3\'\':\&‘((\3 (’Bces O taat
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IB Math Studies 1 Part 2 Final Exam Review Guide Page |6
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32. Compare and contrast the two functions y, > |x|and y, > |x +_Q\— 59
1

B. Shifted 3 units to the right and 5 units down.
C. Shifted 3 units to the "'1—'" and O unis up.—

33.  What is the minimum point of the function y =3x" —18x-1?
¥ Pl inx (’\TC\)\\
” 5
< Orowy
% G-Sew (F5) | v (F3)

A (283)
B. (-3.80)
C. (-3.2)



. ; 7
3) , which procedure would you follow’

4. To expand(x

(V8]

Al fxex=3» 3) = x* =9

B. (x—3}(x—3)=x" ~3x=3x+9
=x'-6x+9

c. 3(x-3)=3x-9
D. (—3,\)"

. \2 : ) (il ~
Given the quadratic function / (x)=—2 {x— 4) + 7[.;___what is the vertex of its graph’

(P
Wi

i

'S

(-2.-7)
(2.7)
(4.7)

(-7.6)

O & v

8+3i (q +34)

36.  Write the e\pressmn as a complex number in standard | form : ni-
4 = 21 LL\ *() L 3

L4t ) k);ttcw\)? HQLL\HA
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g u/
39\ Ay +lo o +3%

‘591 +3‘(L"UL \ g L > %&—ﬁ;—ﬂ_

3”3‘& —}0 \\o*—'*l o
QA6+2D ) ao (L
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37. Write in standard form and graph y = (x +1) +32

s> 3

XEx r %+l +3

X3 dx +\ 43
XZ+dx+ D

, 2>
~’1-“;,5b<,~¢g-‘q_ i (¢ N t (44

a, what are the solutions to the equation %’ +4x-2=0?
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If you were to draw a normal distribution graph with 3 standards deviations to the right

39.
and 3 standard deviations to the left. What would be thejrange of data, if g
mean=40 and standard deviation= 10? fee R e
il = +C
//j
| O A0 30 ~‘Ib o0 (ro To
40. School administrators collect data on students attending the school. Which of the

following variables is quantitative?
A. whether the student is in Honors classes
B. whether the student has taken the ACT

D. Demographics



-
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41.  Here are some statistics for the annual Wildcat golf tournament: ’

42.

Lowest score = 50, + 40

Mean score =93, + K0

Median = 104, + X0

Range = 80, Stays the Sawe

Inner Quartile Range = 105, Btmj s tHhe Same
Ql1=40, +RO .

Standard deviation = 19 3&3% the Same

Suppose it was very windy and all the golfers' scores went up bylm_g Tell the new
value for each of the summary statistics.

Lowest 5 new By "B Sheok be (K053 GOY

The Meann 1S flow 103
T w\e C.\qklv\ \: > \\U‘»J \\ L&

| "\
“N\ S\f\bu\c\ \Oé LRQ‘:Sf\i\ 0\_)’\"

Y\ ’ : AN EE \ e WAMUY \LALX
LB\l N\ -_|\‘~‘.\ . A - \\.k, \ SN {

\x
-

Y oo e (Fossad our

A iomﬂ:memﬁw 14, range: 80, TQR: 105, Q1= 56, Sb—19

,mean: 103, median: 114, range: 70, IQR: 105, Q1: 46, SD: B9«

€. Lowest score: 60, mean: 103, median: 114, range: 70, 1QR: 115, Q1 46,8D: 19

We collect these data from 50 male students. Which variable is categorical?

A. number of speeding tickets

C. number of shoes in their closet
D. hours of work last week



